
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

DESCRIPTIONPART NUMBERQTYITEM

Male/Female threadAngle nippe 90-Deg JIC-10116

Male/Female threadAngle nippe 90-Deg JIC-12115

Hose 3/4" L=1100mm06088009114

Hose 3/4" L=1550mm06088008113

Hose 3/4" L=550mm06088007112

Hose 1/2" L=955mm06071-08111

Hose 1/2" L=855mm06071-07110

Cylinder Head Cap ScrewDIN 912 - M10 x 4059

Hex-Head Bolt (10.9)DIN 931-1 - M12 x 10028

Hex-Head BoltDIN 933 - M16  x 3017

Hex NutDIN 985 - M1226

WasherDIN 125 - A 1315

Hex-Head BoltDIN 933 - M12  x 3524

Hex NutDIN 985 - M823

Hex-Head BoltDIN 933 - M8  x 2522

Hex NutDIN 985 - M1061

1 
A3

Hydraulic filters and priority

valve

Valtra N91-N141 HiTech
State Changes Date Name

Drawn

Checked

Standard

Date Name

8.9.2008

www.jake.fiJAKE

14

13

12

10

15

8

9

2

4

HHHHUUUUOOOOMMMM!!!!

Kaikki harmaat osat ovat Valtra alkuperäisosia

NNNNOOOOTTTTEEEE!!!!

All the gray parts are Valtra original parts

Suodattimien järjestys vaihtuu alkuperäisestä

Filters order change from the original

Tämä suodatin on siirretty

akkukotelon vierestä

This filter has been moved

from the side of battery case
7

11

16


